THTEE R[IRH/PEEERE 29UFE
ORI E (MHDHA) (BAL : FH. %)
Rit& X % NER 0EE 18R Es fi
w % & 23, 805 22,718 1,087 4.8
RIZHETE 1,629,636 1,681,737 A 52,101 A 3.1
ERBERKREEMGE 526, 592 560, 785 A 34,193 A 6.1
BRERELEENEE 1 1 0 0.0
= HAREENLEE 48 51 A 3 A b9
: IR E
ERRRABRE R REEXE 17,494 17,733 A 239 A 1.3
EE*RBuE 1 1 0 0.0
HXHE 2,052 2,053 Al A 0.0
¥ & & 5,000 5,000 0 0.0
a&t 2,204,629 2,290,079 A 85,450 A 3.7
Rit& X % NEE 0EE b pp fi
w % & 8, 065 7,964 101 1.3
- N . o= n B & 990 989 1 0.1
FEFEECERTHEERISET = & B 100 100 0 0.0
&t 9, 155 9, 053 102 1.1
Rit& X % NEE 0FE P GES
w % & 132, 903 57,130 75,773 132. 6
EEEEEERISE F ik & 2,000 2, 000 0 0.0
&t 134, 903 59, 130 75,773 128. 1
Rit& X % NEE 0FE B GES
w % & 2,000 67,666 A 65,666 A 97.0
g FKE R EFRIRE ¥ & & 0 500 A 500] A 100.0
=1 2,000 68,166] A 66, 166 A 97.1
Rit& X % ERE 0EE 1R Es GBS
w % & 231 2, 356 A 2,125 A 90.2
P = 5 %X B 1 1 0 0.0
=) PN
T HIERIGHFRI =5 ¥ B B 50 50 0 0.0
=X 282 2,407 A 2,125 A 88.3
Rit& X % ERE 0EE 1R Es GBS
w % & 9, 031 11,519 A 2,488 A 21.6
LEESHTE 342,152 332,763 9, 389 2.8
BUEnEERFIRE HXHE 151 151 0 0.0
¥ & & 50 50 0 0.0
=it 351, 384 344, 483 6, 901 2.0
ONERERE (HHOHA)
Rit4 X & NEE 0EE B GBS
UR 4% #O 3 586, 313 0 586, 313 =i
NHETKESERE BRI H 469, 362 0 469, 362 =i
=it 1,055, 675 0] 1,055,675 =i




